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1. Introduction
In R15, it is agreed that [1]:

For testing on each polarization, the levels of the wanted signal and the interferer are reduced by 3dB.

This agreement is not correct anymore since the calculation method for EIS was changed, and in this contribution, we further analyze this problem.
2. Discussion
The agreement described above is based on the EIS formula below:

EIS = [1/EISq +1/EISf]-1

Based on this formula, a virtual polarization gain is incorporated. Since the ACS/IBB is verified on each polarization sequentially, to keep the same ratio between signal power and interferer power, as shown in the following:
[image: ]
Figure 1 Description in Annex K1.8 Blocking measurement procedure

It makes sense that to reduce 3 dB for both signal and interferer during the test. For example, if EISq = -80 dBm and EISf= -80 dBm, based on the formula above, the EIS = -83 dBm which is 3 dB lower than each polarization.

However, in the current spec, the EIS formula is changed to:

EIS = 2* [1/EISq +1/EISf]-1

This new formula is named “average EIS” and the polarization gain is removed, if EISq = -80 dBm and EISf= -80 dBm, and based on the new formula, the EIS = -80 dBm which is equal to each polarization, so under this situation, the 3 dB reduction for signal and interferer is not needed anymore.

Observation: Based on the new formula for “average EIS”, the 3 dB reduction for signal and interferer in ACS/IBB testing is not needed.

Proposal: Send LS to RAN5 to remove the 3dB reduction in ACS/IBB testing. 

A draft LS is provided in [2].

3. Conclusion
In this contribution, we analyze a legacy issue in ACS/IBB testing.
Observation: Based on the new formula for “average EIS”, the 3 dB reduction for signal and interferer in ACS/IBB testing is not needed.

Proposal: Send LS to RAN5 to remove the 3dB reduction in ACS/IBB testing. 
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Establish a conncetion between the DUT and the SS with the downlink signal applied to the 6-polarization of the
measurement antenna

Position the UE so that the beam is formed towards the measurement antenna in the RX beam peak direction.

Apply a signal with the specified reference measurement channel on the 6-polarization, sctting the power level of
the signal 3dB below the EIS level stated in the requirement.

Apply the blocking signal with the same polarization and coming from the same direction as the downlink
signal. St the power level of the blocking signal 3dB below the level stated in the requirement.




